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Question Shuffling Allowed : Yes

Question Number : 1 Question Id : 3475772488 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Let4=1{0,1,2,3.4.5}. Let R be a relation on 4 defined by (x, ¥) € R if and only
if max|x, y} € {3, 4}. Then among the statements

(S1) : The number of elements in R is 18, and
(S;) : The relation R 1s symmetric but neither reflexive nor transitive
Options :

3475778746, both are true

3475778747. both are false



3475778748, Oy (S1) s true

3475778749, O0ly (S2) 1s true

Question Number : 1 Question Id : 3475772488 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
HATA={0.1,2,3,4,5) 81 AFTA R TS G R (x, 3) € R UG AR A TS max v, v} €
13,4} B GRITORMING § 1 O ot

(Sy): R 3faydi &1 Y& 18 8, 3R

(S,) : Gdel g GO g fhd 9 A1 Wed § 1 31 UbHD §
0y

Options :

3475778746, Gl A ©

3475778747. Eﬁ:ﬂ! 3 g

3475778748, Had (s;) I ¢

3475778749. Had (s,) T ¢

Question Number : 2 Question Id : 3475772489 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The sum of the squares of the roots of |x - 2|: +|x=2/-2=0 and the squares of the roots of
: o —2|.1:—3|~5 =0, is

Options :

3475778750. 24

3475778751, 26
3475778752. 30

3475778753. 36

Question Number : 2 Question Id : 3475772489 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
HIDPRT [x -2 +[x—2|~2=0P Hal b T 3R FHDIT x> —2|x 3|~ 5= 0P Hall b Tl
BT M

Options :



3475778750. 24
3475778751, L.
3475778752. 30

3475778753, 36

Question Number : 3 Question Id : 3475772490 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
(2 cosf +isin F}]

- Dl . Then 6 is equal to
\ cos@—3isind z 4

LE'EA={HE[0,2R’]:‘E+IGRE J
e A

Options :
,
3475778754, 87"

3475778755, 4

3475778756. 67~

2[ -
e,
3475778757, 4

Question Number : 3 Question Id : 3475772490 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
(2 i si - , =
HHT A=10e[0,27]:1+10Re| MJ:[} gldl Y ¢ Rk g
\_cost —3isin# GeA
Options :
\
3475778754, 87

3475778755.

3475778756. 6~

2[ -
—iT
3475778757. 4

Question Number : 4 Question Id : 3475772491 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



2 2+p 2+p+.q
LetA={4 6+2p 8+43p+2q |.lfdet (adj(adi(34)))= 2".3" m.n€ll thenm+ nis equal
6 1243p 20+6p+3g

to
Options :

3475778758.

-2
=

3475778759, 22

-2
+=

3475778760.

)
=)}

3475778761.

Question Number : 4 Question Id : 3475772491 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
2 2+p 2+p+q

HHT A=|4 6+2p B8+3p+2q %|qﬁde?{aaff{aaj{344}])= 2”3 monell g, Am+n
6 12+3p 20+6p+3q

ERICRE
Options :
3475778758. 20

3475778759. 22
3475778760. 24

3475778761, 26

Question Number : 5 Question Id : 3475772492 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

= 2 5
Let o be a solution of x~+ x+ 1 =0. and for some @ and & in

I 16 13

_ .4 :

E, [4 a b]|-1 -1 2|=[00 D].Ii—4+n—i+iﬁ:3ﬁ[hennrfnisequalto
2 -14 -8 % ' N

Options :
3475778762. 8

3475778763. 11
3475778764, 7

3475778765. 3

Question Number : 5 Question Id : 3475772492 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1

AT HHIERU 2+ x+ 1 =0 BIUh gd o g AR [Pl ¢, b e 2 B 00

1 16 13
(4 a b]|-1 -1 =[o 0 0] B! tri’é“——+—+——_3 A m+n TR
2 =14 -8 a o

Options :
3475778762. 8

3475778763. 11
3475778764, T
3475778765. 3

Question Number : 6 Question Id : 3475772493 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

111 z*
If - 4—+—+..00=
7 F T3 T Ty
I ] | _
|4+§?+S'+"I:a
.
7—4—!-?‘}?{'“.@:‘{-{«

then = 1s equal to
s

Options :
3475778766. 14

3475778767. 15
3475778768, 18
3475778769. 23

Question Number : 6 Question Id : 3475772493 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
L T

Y ]

1 ] ]

24 -1-4_'1 -l-'(—1+ o0=f,
e Al i ERE



Options :
3475778766. 14

3475778767. 15

3475778768, 18

[
%]

3475778769.

Question Number : 7 Question Id : 3475772494 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

There are 12 points in a plane, no three of which are in the same straight line, except 5 points
which are collinear. Then the total number of triangles that can be formed with the vertices at
any three of these 12 points is

Options :

3475778770. 210

3475778771, 220
3475778772 e

3475778773. 230

Question Number : 7 Question Id : 3475772494 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

U grdd o 12 fig &1 349 9 5 fdg U 3@ 1 ¢ 31R 2+ Sifdfad 12 fdgsi d g @Is off
M U W@ | A1 81 1 34 12 fdgsil I 9 Tt diF &I 2 ddx 9418 S 9ebd dred Fyi
@ Hd Y& 8

Options :

3475778770. 210

3475778771, 220
3475778772. 200

3475778773. 230

§

Question Number : 8 Question Id : 3475772495 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

1016

| I
The number of integral terms in the expansion of { 52 478 ) is

)

Options :
3475778774, 129



3475778775. 127
3475778776. 128

3475778777. 130

Question Number : 8 Question Id : 3475772495 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

| | 1016
[53 + 78

& TR § Ui g uel o 4B g
Options :

3475778774, 129

3475778775. 127
3475778776. 128

3475778777. 130

Question Number : 9 Question Id : 3475772496 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
If 4 and B are two events such that P(4)=0.7, P(B)=0.4 and P(A ﬂﬁ] =0.5, where B denotes

the complement of B, then P { B { AU E]) is equal to

Options :

3475778778. 6
3475778779. 4

3475778780. 2

tad | —

3475778781.

Question Number : 9 Question Id : 3475772496 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
qie & geei 4 AR B & [T P4) = 0.7. P(B) = 0.4 3R P(4NB)=0.58.5E[ 8. 3D RS
@l qid e, dl p(B|(4UB)) RN ©

Options :



3475778778. 6
3475778779. 4

3475778780. 2

3475778781, 3

Question Number : 10 Question Id : 3475772497 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
A line passing through the point P(a, 0) makes an acute angle a with the positive x-axis. Let this

line be rotated about the point P through an angle - In the clock-wise direction. If in the new

"

position, the slope of the line is 2- V3 and its distance from the origin is F’ then the value of

3¢’ tan> @ - 243 is
Options :
3475778782. 8

3475778783, 3
3475778784 L.
3475778785. 4

Question Number : 10 Question Id : 3475772497 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
fdg P(a, 0) U BIDHR S dTcll U LT UATHD +-HE H A BT o I411 g | AFT 3 3471 D
fiig P & W oS Bl femn d < BT b YATar 7T §1 Al 7S RUfd H 39 a1 1 yaur]

2-\3 % IR T g A zual gl %a;‘ﬁ 3a* an’ a-243 BIAAR

Options :
3475778782. 8

3475778783, e
3475778784. 6
3475778785, 4

Question Number : 11 Question Id : 3475772498 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1
Let a be the length of a side of a square OABC with O being the origin. Its side OA makes an
acute angle o with the positive x-axis and the equations of its diagonals are [-ﬁ + 1) X+ (\E - 1) y=0

and (xﬁ —1}1—(\f§+ |)y+3v’§ = 0. Then &” is equal to
Options :
3475778786. 16

3475778787. 24
3475778788, 48

3475778789. 32

Question Number : 11 Question Id : 3475772498 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

HHET T OABC B U YOIl $i ddls o ¢, o181 0 Jd [6g & | THD! Yol OA UATHD x-31& I
A DIV o SN § TR §HD [AH0T P FHB (V3 +1)x+(V3-1) =0 T
(V3-1)x=(v3+1)y+8v3 =081 dl o R &

Options :

3475778786. 16

3475778787. 24
3475778788, 48
3475778789. 32

Question Number : 12 Question Id : 3475772499 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Let the ellipse 3x2 -ijrz = 4 pass through the centre C of the circle x? *_1'2 —2x—4y—-11=00f
radius . Let fq. /> be the focal distances of the point C on the ellipse. Then 6f; /> —r is equal to

Options :
3475778790. 74

3475778791. 70
3475778792. 68
3475778793. T8

Question Number : 12 Question Id : 3475772499 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



A ST 352 + pr? =4, » AT & g4 2 2y 4y 11=0P g CHBIBR A |
nma“rd?ﬁrwﬁg aﬁmﬁﬂgﬁmﬁﬁ%ﬁsfg F R g

Options :
3475778790. 74

3475778791. 70
3475778792. 68

3475778793. T8

Question Number : 13 Question Id : 3475772500 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

.
i T ||1+tan' +1
1+tan® (2)~1 , 2
The value of cot™ & ~cot \‘I—
tan(2) LI}
fan 7

R
1s equal to

Options :

3475778794, 4
3475778795. 2

3475778796. 2

3475778797. 2

Question Number : 13 Question Id : 3475772500 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

/ 1

'rhlzln: 3 _]“l | +tan” 1]” )

cot Q;—ml1 i ﬁﬂ'[-_-f%
tan(2) | 1)
) an| = |
\ L2

Options :

3475778794, 4

.:.13' e i
3475778795. 2

3475778796. e



3
T+—
3475778797. 2

Question Number : 14 Question Id : 3475772501 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Let 4=17+ 2} +k and b =27 3 ;_ }E Let ¢ be a unit vector in the plane of the vectors &

and p and be perpendicular to @. Then such a vector ¢ is:
Options :

1 T %
3475778798. ﬁ(r 4 +k)

1 e S »
3475778799. E (_I k4 k)

L (-7 +k)

3475778800. \E

3475778801. ﬁ('f_zk)

Question Number : 14 Question Id : 3475772501 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
A G=i+2j+k IR p=2i+ -k BN AFINARERT G 3R j HITHTU ¢ b ddaq,
U HED Ul ¢ g1 dl tuUdh Ifaw ¢ §

Options :
1 ['.‘ L
L(1-74d)
3475778798, N3

1 IR
3475778799.$(_ e k)

A

3475778800. \'IE

: (_}—2&)

3475778801, N3

Question Number : 15 Question Id : 3475772502 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



y—2 23
; 3
is—= be Ay and A,. Then the radius of the circle passing through the points

= 2 2 : X
I et the values of A for which the shortest distance between the lines and

x=A _yp=4 z=3

3 4 5 6
{ﬂ.. E']' {}ul. }.2] E‘lﬂd {;‘\.2._ }\.]} iS
Options :

3475778802. 4

V2

3475778803, 3

3475778804, 3

1

5
3475778805.

-
3

Question Number : 15 Question Id : 3475772502 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
HH1 . & A, W%ﬂi@mﬁx ) va z;s a_i‘:n_r—;::_y;- Feree

"g(ﬁ % 7 AR ,~ﬂ%|?ﬁﬁ§3ﬁm 0), (M. &) 3R (s, ;l}ﬁwmmﬁdm%ﬁﬁ@ﬂ%

Optlons :
3475778802. 4

N

3475778803, 3

3475778804, 3

1

5
3475778805.

-~
3

Question Number : 16 Question Id : 3475772503 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Given below are two statements:

i J1+x
+Hog, |——2x
Statement I :

lim

x—l)

L.hIM

3
Statement IT : |5, [xﬁ J _ L
2
[

v—l

In the light of the above statements, choose the correct answer from the options given below



Options :
3475778806. Both Statement I and Statement II are true

3475778807. Both Statement I and Statement II are false
3475778808, Statement I 1s true but Statement II is false

3475778809, Statement I 1s false but Statement II is true

Question Number : 16 Question Id : 3475772503 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

TR HUE U U E:

rr.tan_] ¥ +lo E—EI
PUTL: | PNk |2 R
5 ol
x—l x° )
{ i\'
PUTI: iy | 4is |= L T
v e
2+ ®UHl & U Hid fau 71u fam el 4 9 Ul 3w g4
Options :

3475778506, AT AR BUA N GHI I §
3475778807, PUA 1 3R HYF 11 GHI 3[EA B
3475778808. DY THH % ﬂ)@ DU I %

1475778800, PUTI 3 ¢ b PUT I TA B

Question Number : 17 Question Id : 3475772504 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

5 ; ; X 3 : : s g :
Let the function /(x)= ;+—+3, x#0 be strictly increasing in (—=,q, )U(a,,%) and strictly
%

h 5
decreasing in (¢, a, )U(e,, ;). Then z af 1s equal to
i=1
Options :
3475778810. 28

3475778811. 36

3475778812, 40



3475778813. 48

Question Number : 17 Question Id : 3475772504 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
HATHA f(x) =§+3+3, x#0, (~0,)U(ay») H IR IUAAE 3R (ay,a,)U(ay.a5) B
X

FRR gREFE 1 dl iczf R ¢
i=1

Options :
3475778810. 28

3475778811, 36
3475778812. Lo

3475778813. 48

Question Number : 18 Question Id : 3475772505 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
1 2

Let f(x) be a positive function and I = j 2x L}"[Zx(l —21]}&1: and /[, = _[ )‘(1(1 t])afr Then
1 -1
2

the value of == is equal to
1
Options :

3475778814, 12
3475778815. 9
3475778816. 6

3475778817. 4

Question Number : 18 Question Id : 3475772505 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

.y

HHT £ (x) U 4ATHD Beld g a4l J, = f 2x £ (2x(1-2x))dx ARL, = [ f(x(1-x))axT1

=1

-

.lr'} o

= & HH SRR §
1

Options :

3475778814, e



3475778815. 9
3475778816. 6
3475778817. 4

Question Number : 19 Question Id : 3475772506 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The integral (‘)rzxsin(;:x)‘)dx is equal to :

1

M 0 |

Options :
3475778818. 1 + 3m

3475778819, 2 + 3w
3475778820. 3 + 2w

3475778821. 4 + 1

Question Number : 19 Question Id : 3475772506 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
3

BEICANE! JE.] ”.?1'2.1‘ sin {:rx)‘)a’x ENELE

Options :
3475778818. 1 + 3@

3475778819, 2 + 3m
3475778820. 3 + 2w

3475778821. 4 + =@

Question Number : 20 Question Id : 3475772507 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

- s .‘d]r” —1-‘.1'} f y
Let f(x)=x— 1 and g(x) = ¢* for x € E. It—‘:(e x)))——= |, ¥(0)=0,
et f(x)=x—1and g{x)=¢" for x - g[f(f( )]) e (}

then y(1) is

Options :
e—1

4
3475778822. €



3475778823. €

3475778824, €

3475778825, €

Question Number : 20 Question Id : 3475772507 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

T f(x)=x-1 3R gx)= ¢, x €. T TR ?: [e 20 g(_f(f{x))]—iJ ,¥(0)=0%.
I
d (1) WER T
Options :
e—1

4
3475778822, €

3475778823. €

3475778824, €

3475778825, €

Mathematics Section B

Section Id : 347577176
Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 5

Number of Questions to be attempted : 5

Section Marks : 20
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 347577176
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 3475772508 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 1



). +:J be [a. 3] and the domain

Let the domain of the function f (x)= cos : (
(R
of g(x) = log,(2 — 6log,7(2x + 5)) be (v, 0).

Then |7(a+ B) + 4(y + 0)| 1s equal to
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 21 Question Id : 3475772508 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 1

HIAThdd 7 (x)= cos ! (fx-kﬂ GARIG] [o. B] % AR g(x) = logy(2 — 6log,7(2x + 5)) DI uid (v, 0)
LaX =
Sl dl|7(a+B)+4(y +0) RIS g

Response Type : Numeric

Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 22 Question Id : 3475772509 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 1

The product of the last two digits of (1919)191% jg

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 22 Question Id : 3475772509 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 1

(1919)1°19 @ 3ifcH T 3Dl BT UHTH 3
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 23 Question Id : 3475772510 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 1



Let 7 be the radius of the circle, which touches x- axis at point (a. 0), @ = 0 and the

parabola }-‘2 = Ox at the point (4, 6). Then » is equal to
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 23 Question Id : 3475772510 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 1
3 2
T BT » 1D I, x- 318 Bl fdg (a. 0). @ < 0 TR 3R WRAAY y2 = 9x Bl fdg (4. 6) W
W A5 ol - SRR 7
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText

Possible Answers :

1

Question Number : 24 Question Id : 3475772511 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 1

Let the area of the triangle formed by the lines x+2=y—1=z, - = —1 == and

LA i R T equal to
-3 B

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 24 Question Id : 3475772511 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 1
x-3 r  z=1 .3 x y=3 z=2
ARG x4+2=yp—-1=2z, = =L1=_I 3R : =z | SRT & Y &1
J = = e
BT 431 dl 42 RS G
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText
Possible Answers :
1

Question Number : 25 Question Id : 3475772512 Question Type : SA Display Question Number : Yes



Correct Marks : 4 Wrong Marks : 1
Let the area of the bounded region
) B 8 B *_ii}-'z._ ¥ =3x— 6} be 4. Then 64 is equal to
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText
Possible Answers :
1

Question Number : 25 Question Id : 3475772512 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 1

I OREE &7 {(x.1): 0= 9x <32 y=3x— 6 DIEABA 4| dl 64 REX G
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :
1

Physics Section A
Section Id : 347577177
Section Number : 3
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20
Section Marks : 80
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 347577177
Question Shuffling Allowed : Yes

Question Number : 26 Question Id : 3475772513 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No
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A quantity Q is formulated as XY 27 5 .X,Y and Z are independent parameters which have

fractional errors of 0.1, 0.2 and 0.5, respectively in measurement. The maximum fractional error
of Qis

Options :

3475778831. 0.8

3475778832. 0.1

3475778833, 0.7



3475778834, 0.6
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a3 o - : ;
U AR x2y 27 5 FETH DA T X, Y R z W U g, b 709 ¥ fimras
Fedl HARE 0.1, 0.2 AR 0.5 81 Q BT MfeHaH TS IfC §

Options :
3475778831, 0.8

3475778832, 0.1
3475778833, 0.7

3475778834. 0.6
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Correct Marks : 4 Wrong Marks : 1

A body of mass 2 kg moving with velocity of ﬁi o= 31+ 4yms ' enters into a constant force

field of 6N directed along positive z—axis. If the body remains in the field for a period of %

seconds, then velocity of the body when it emerges from force field is.
Options :

3475778835, N1 +3)+5k
3475778836, 31 T41- 5k
3475778837, S1H4]+5Kk

3475778838, 31 +41+5k
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AT v, =3i+4jms T ITAM, SHM 2 ke T Ueb TS, 4D 2318l b arffem (D,
6N & U [90d 9c1-89 | Ua2 sal o | i fuvg, &9 ¥, %mﬁmﬁlﬁimmﬁﬁ
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Options :

3475778835, N1 +3]+5K



3475778836, 1 T41- 5k
3475778837, 31 4]+ 5k

3475778838, 31+ 41+ 5k
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A rod of linear mass density “A” and length L’ is bent to form a ring of radius *R’. Moment of
inertia of ring about any of its diameter is.

Options :

3475778839. L.

3
3475778840, ST

3475778841, 41~

AL
3475778842, 16m™
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D GogHA T <1 SR T L ®1 TP 89 DI, (3901 R & UD 9o Bl 11 & fa
OIST TR B 1 39 90 &1 39 bt +ft o1 & Ay, 9isd - ool §

Options :

AL
3475778839, 12

NE
3475778840, 8T

3475778841, 4m~

3475778842, 16~
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A block of mass 2 kg is attached to one end of a massless spring whose other end is fixed at a
wall. The spring-mass system moves on a frictionless horizontal table. The spring's natural length
1s 2 m and spring constant is 200 N/m. The block is pushed such that the length of the spring
becomes |1 m and then released. At distance x m (x < 2) from the wall. the speed of the block will
be

Options :
10 l—[Q—.r}j|3 mis
3475778843. L
10] 1-(2- .r]g] m/! s
3475778844. L
- I
215
10[1-(2-x) /s
3475778845.
0[1-(2 If\mfx
3475778846.
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SHHH 2 kg BT UD Th], U GoqHRIgd HHFI & Uh R U 931 ¢, ST garT R, Uh
SR TR 131 831 ¢ | I8 HHMHI-SHHM MH, U gyURIgd Afds 39 TR i SR ¢ |
M BT WIHIdD TS 2 m T 3R HHFT RIS 200 N/m 1 Ted Bl 39 UDR bl STl
<. [ U & TS 1 m g 9d] g SR Y 39 SIS AT Sidi g1 AR Yx m (x < 2) Bl
3 R, e Bl Ard gl

Options :
10 l—[Q—.r}j|2 mis
3475778843. L
10 1—(2—_\']1- m/ s
3475778844. L
i |
25
10[1-(2-x) [P m/s
3475778845.
10[1-(2 .1']2 Ln /s
3475778846.
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Two balls with same mass and initial velocity, are projected at different angles in such a way that
maximum height reached by first ball is 8 times higher than that of the second ball. T and T are
the total flying times of first and second ball, respectively, then the ratio of Ty and T is

Options :



3475778847 V2 :1

3475778848, 2 : 1

b2
71
o

3475778849.

3475778850. Le
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THM SoIAM 3TR URME 971 & 1Y, &1 1] DI, [ D10 IR 3 UHR YA b S 3.
o Ugell 7l gRI WK &1 718 fddd FHams, Rl 118 gRI UK Gdls &1 8 T g1 Tfa T,
3R T,, YR Ugdl 3R ORI 7iG & Hdl 359 BId g, dl T; 3R T, BT U §

Options :

3475778847, N2 1

3475778848, 2 : 1

3475778849, 282 :1

3475778850, 4 : 1
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Correct Marks : 4 Wrong Marks : 1
A 3 m long wire of radius 3 mm shows an extension of 0.1 mm when loaded vertically by a mass
of 50 kg in an experiment to determine Young's modulus. The value of Young's modulus of the

wire as per this experiment is P x 10! Nm™2, where the value of P is: (Take g=3n m/s?)
Options :
3475778851. 3

3475778852. 10
3475778853, 2.5

3475778854, 25
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I A0S JTT DR & T WA H, 50 kg & Ueb GHHM U S d: 3alRd B ),

24T 3 mm BT T 3 m 1 dR. 0.1 11u11$fwm%l Wwﬁﬁ SR, IR 1T
]IUﬂ'fﬁP < 101 Nm™2 g, \ﬂﬁTPW AH ¢: (g=3mm/s’ o)

Options :




A

3475778851.

3475778852. 10

]
n

3475778853.

I~
L 1

3475778854.
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Number : Yes Is Question Mandatory : No
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Water falls from a height of 200 m into a pool. Calculate the rise in temperature of the water
assuming no heat dissipation from the water in the pool.

(Take g= 10 m/s?, specific heat of water = 4200 J/(kg K))
Options :
3475778855. 0.23 K

3475778856, 0.48 K
3475778857. 0.14 K

3475778858, 0.36 K
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Uch TRULAIE H el 200 m D1 Hdls 4 TR T | I16 H §d Y Bls SHMI-&1 181 OHd §U, 5d
& dI9q 1 gis &1 101 B

(2= 10 m/s2, 5T @1 TAFRIF 3™ = 4200 T/(keg K) T)

Options :

3475778855. 0.23 K

3475778856, 0.48 K
3475778857. 0.14 K

3475778858, 0.36 K
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A monoatomic gas having ¥ == 1is stored in a thermally insulated container and the gas is
g 2 3 g

JHh
suddenly compressed to (L} ofits initial volume. The ratio of final pressure and initial pressure
8.

\
IS:
(v is the ratio of specific heats of the gas at constant pressure and at constant volume)



Options :
3475778859, 32

3475778860. 16
3475778861, 40

3475778862. 28
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Uch UhURANS 119, fSr T v =% €, Uh A% U H YUSTRA € 3R 34 19 Bl b
TS WRIAD T éﬂﬁﬂfﬁ%ﬂmw%l 31w a9 3R URIEID aTd Bl S4uTd

f
(v I a9 3R T 3EaH R, 719 &1 a1y Se1si &1 3Hud )

Options :
3475778859, 32

3475778860. 16
3475778861, 40

3475778862, 28
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Two strings with circular cross section and made of same material, are stretched to have same
amount of tension. A transverse wave Is then made to pass through both the strings. The velocity
of the wave in the first string having the radius of cross section R is vy, and that in the other string

Vi
having radius of cross section R/2 is v,. Then B
1
Options :
3475778863. 4

3475778864, 2

3475778865. e

3475778866. ‘uE
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TqH Yerd A, qaieR U U &1 &l SIRGT, TaH A6 H 7119 UItd - &
fee, ad €1 34D dle U U a7 DI, THT SIRAT IR SI1d1 ¢ | SR URwse i
51541 R dTei Ugall SR H TR BT a7 v, 3R 30 UR=dc B Hed R/2 Tl GOkl SR H

T AT+, 31 T 1—|%

Options :
3475778863. 4

3475778864, 2

3475778865, 8

3475778866. NE
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Correct Marks : 4 Wrong Marks : 1
Given below are two statements: one is labelled as Assertion A and the other 1s labelled as
Reason R

Assertion A : Work done in moving a test charge between two points inside a uniformly charged
spherical shell is zero, no matter which path is chosen.

Reason R : Electrostatic potential inside a uniformly charged spherical shell is constant and is
same as that on the surface of the shell.

In the light of the above statements, choose the correct answer from the options given below

Options :
3475778367, Both A and R are true and R is the correct explanation of A

3475778368, BOth A and R are true but R is NOT the correct explanation of A

3475778869. A 1s true but R is false

3475778870. A 1s false but R is true

Question Number : 35 Question Id : 3475772522 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

1475778867 A IR R G T B 3R R, A Tl T ARST B
3475778868, A 3R R G I §, IR, A Pl Fol AR Tei §
3475778869. AT, IR ATA G|

3475778870, A NI g. EIE@];RTHEH%W
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Correct Marks : 4 Wrong Marks : 1
An infinitely long wire has uniform linear charge density A = 2 nC/m. The net flux through a
Gaussian cube of side length /3 em. if the wire passes through any two corners of the cube, that

. ’ S .
are maximally displaced from each other, would be x Nm~C L where x is:

[Neglect any edge effects and use =9 x 10° SI units]

dre,
Options :
3475778871, 0.72 m

3475778872. 6.48
3475778873 ls.

3475778874, 2.16
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SURMT U ¥ ¢fd Udh dR 6I, UhYHH WRID 34 99 1 =2 nC/m ¢ | Yol &l efrelg
3 em & U T3HR 9 Y IR TR+ dTdl ¢ fHdTg (Feidd), UG IR, 91 d Uh gk ¥
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dre,

Options :
3475778871, 0.72

3475778872. 6.48
3475778873. L.

3475778874, 2.16



Question Number : 37 Question Id : 3475772524 Question Type : MCQ Option Shuffling : Yes Display Question
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Correct Marks : 4 Wrong Marks : 1
Electric charge is transferred to an irregular metallic disk as shown in figure. If 4, 05, 03 and a4

are charge densities at given points then, choose the correct answer from the options given below:

01 +03.:072=04
0 >0 0570y

G] gl 03 = GE = 04

o0 wp

G] ol 03 =z 02=G_1
E.01=0;=03=04

Options :

3475778875, D and E Only

3475778876, B and C Only
3475778877, A. B and C Only

3475778878, A and C Only
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Options :

3475778875.£?535TI) AR E
3475778876, DA B 3R C
3475778877. hdd A, B 3R C
3475778878, DA A AR C

Question Number : 38 Question Id : 3475772525 Question Type : MCQ Option Shuffling : Yes Display Question

Number : Yes Is Question Mandatory : No
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Two metal spheres of radius R and 3R have same surface charge density o. If they are brought in
contact and then separated. the surface charge density on smaller and bigger sphere becomes o,

; P |
and g, respectively . The ratio P

Options :
3475778879. 9

I
3475778880. 3

3475778881, 3

1
3475778882, 9
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frsarsil R 3R 3R & YT & <l 7icll &, HM UY 349 ¥4 o 5 | TG 38 YD H i

T fhdr Sral g, a1 BI 3R &3 Tidl WYY 9L °cd, HH: o, 3R o, Bl &1d g | 301
2

O[;tions:

3475778879. 9

Pl | =

3475778880.

(8]

3475778881.

WD |

3475778882.
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Figure shows a current carryving square loop ABCD of edge length is *a” lying in a plane. If the
resistance of the ABC part is r and that of ADC part is 2r, then the magnitude of the resultant
magnetic field at centre of the square loop is

Options :

3475778883. e

Impgl

3475778884, N 24

ol

3475778885, 2na

2u,l
3475778886, 3T
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e T o, U d § U, TR &1 T <o & Udh YRTdig aiiur &l SRidi g1 afe
ABC HTT &1 UfGRIY r 8 3R ADC HFT &1 UfRIY 2 8, 1 59 97 TR & d5 IR URomH
GBI &F BT YR g

Options :

3475778883, 3Ima

3475778884. \E—”

1l
3475778885, 2ma

2p,l
3475778886, 3Md
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Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The amplitude and phase of a wave that is formed by the superposition of two harmonic

) . . ; n
travelling waves, y; (x, t)=4 sin (kx — ot) and y» (x, t)= 2 sin (kx — ot + T} , are:

(Take the angular frequency of initial waves same as w)
Options :

3475778887. [2"@' %]

3475778888. s

3475778889. [ﬁ %]

3475778890. [6'2%]
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FESIEEIRIGEIE IS vy (2. t)=4 sin (kx — ot) 33?}-'2 (x, t)=2 sin (kx — ot + ’-’7“133 ARG
Y AT T8 S Dl 3R AT E:
(URES T &l G DIV Sdfd o o)

Options :

3475778887.[2‘f§‘§ﬂ;]
3475778888. [6‘ %]
3475778889.[‘x§‘?5;]

3475778890. [6'2%]
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A concave-convex lens of refractive index 1.5 and the radii of curvature of its surfaces are 30 cm
and 20 cm, respectively. The concave surface is upwards and is filled with a liquid of refractive
index 1.3. The focal length of the liquid—glass combination will be

Options :

3475778891. 11

700
3475778892. 11

3475778893, 11

800
— CIn

3475778894. 11
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Ui 1.5 P, Ub fddailitid o9 o Y8l Pl debdl AT, HH: 30 em 3R 20 cm T
%ﬁgﬁg@@ﬁﬂ?ﬁ%aﬁ?&mﬁﬂﬁﬂs & U 5d U W ¢ | 5a-BId YGISH &I Blhy g2

Options :
600
— CIN
3475778891. 11

700
— cm

3475778892. 11



500
—_— CIT
3475778893, 11

800
— cm

3475778894. 11
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In a Young's double slit experiment, the source is white light. One of the slits is covered by red
filter and another by a green filter. In this case

Options :

3475778895, there shall be alternate interference fringes of red and green.

3475778896, there shall be an interference pattern for red distinct from that for green.

3475778897, there shall be no interference fringes.

3475778898.
there shall be an interference pattern, where each fringe's pattern center is green and outer edges

1s red.
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41 o U g3l Uai &, 9d IRl |id 1 U 3R, e fiheer 3R gEl, BX fheek 9 3figd
EORECIRIGE

Options :

1475778895, <TC TR LI AT fibsl UhTR U g |

3475778896, <TGl @ [QTQ SAfdRUT UeH, g @ feTu safddur U J fH g
1475778897, P1S AIABRUT fThol TgT gt

3475778898.

U U1 AfqH 0T U g, STl U fohel &1 Ue g g 3R J1g3 fh-TRT a1l g

Question Number : 43 Question Id : 3475772530 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A convex lens of focal length 30 cm is placed in contact with a concave lens of focal

length 20 em. An object is placed at 20 cm to the left of this lens system. The distance of the
image from the lens in cm is

Options :



3475778899. 7

3475778900. 30

f—
LA

3475778901.

Y
L]

3475778902.
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B G 30 em D1 U 30d -0, BI6HY GRI 20 cm & U 3{ddd o4, & Hdh H 341 g
Qﬂfﬁ@~3ﬂaﬁqﬁ$m%aﬁ20mnm@ﬁ%lW@Wﬁgﬁcmﬁ %l

Options :

60
3475778899. 7

3475778900. 30
3475778901, 15

3475778902, 45
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For a nucleus of mass number A and radius R. the mass density of nucleus can be represented as
Options :

3475778903, A”

taa| b

3475778904, A

1
3475778905, A3

3475778906, Independent of A
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SAH Y8BT A 3R AR & U A4S & (o0, 71fid & geqar g &l Fead f=fud

fhg1 S 9hdl g
Options :

3475778903, A°



| b

3475778904, A

3475778905. e

3475778906. A @ dd-d
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The output voltage in the following circuit is
(Consider ideal diode case)

+5V
el

2

g
I
G

v
oul

Options :
3475778907. + 3V

3475778908, 0V
3475778909. —3 V

3475778910. 10V
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Options :



3475778907. + 3V

3475778908, 0V

3475778909. —3 V

3475778910. 1OV
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Question Number : 46 Question Id : 3475772533 Question Type : SA Display Question Number : Yes

Correct Marks : 4 Wrong Marks : 1

A cube having a side of 10 cm with unknown mass and 200 gm mass were hung at two ends of
an uniform rigid rod of 27 cm long. The rod along with masses was placed on a wedge keeping
the distance between wedge point and 200 gm weight as 25 cm. Initially the masses were not at
balance. A beaker is placed beneath the unknown mass and water is added slowly to it. At given
point the masses were in balance and half volume of the unknown mass was inside the water.
(Take the density of unknown mass is more than that of the water, the mass did not absorb water

and water density is 1 g111-"c1113.] The unknown mass is k
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Question Number : 47 Question Id : 3475772534 Question Type : SA Display Question Number : Yes

Correct Marks : 4 Wrong Marks : 1

A thin solid disk of 1 kg is rotating along its diameter axis at the speed of 1800 rpm. By applying
an external torque of 251t Nm for 40s, the speed increases to 2100 rpm. The diameter of the disk
1S m.

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 47 Question Id : 3475772534 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 1
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Response Type : Numeric

Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 48 Question Id : 3475772535 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 1

A sample of a liquid is kept at 1 atm. It is compressed to 5 atm which leads to change of volume

of 0.8 em?. If the bulk modulus of the liquid is 2 GPa, the initial volume of the liquid was
litre.

(Take 1 atm = 10° Pa)
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 48 Question Id : 3475772535 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 1



Uch &9 DI T 1 atm R IW S 1 2 5 atm db GUITSd fhar Siidl 8, fSrad uRomEsy
G H 0.8 om?® BT UREd Bl S 1 UG &4 BT SATTTH YA UMD 2 GPa 8. d §d &1
TR 3 e Tl

(1 atm = 10° Pa o)

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 49 Question Id : 3475772536 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 1
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Space between the plates of a parallel plate capacitor of plate area 4 cm? and separation of (d)
1.77 mm, 1s filled with uniform dielectric materials with dielectric constants (3 and 5)as shown in
figure. Another capacitor of capacitance 7.5 pF is connected in parallel with it. The effective
capacitance of this combination is pF.

(Given €, =8.85 x 107? F/m)

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 49 Question Id : 3475772536 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 1
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Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal
Text Areas : PlainText

Possible Answers :

1

Question Number : 50 Question Id : 3475772537 Question Type : SA Display Question Number : Yes

Correct Marks : 4 Wrong Marks : 1

An electron is released from rest near an infinite non-conducting sheet of uniform charge density
‘—g* .The rate of change of de-Broglie wave length associated with the electron varies inversely

as n? power of time. The numerical value of n is
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 50 Question Id : 3475772537 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 1
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Evaluation Required For SA : Yes
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Text Areas : PlainText

Possible Answers :
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Chemistry Section A



Section Id : 347577179

Section Number : 5

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20

Section Marks : 80
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 347577179
Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 3475772538 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Correct statements for an element with atomic number 9 are

_ . 1 : 1
A There can be 5 electrons for which mg=+— and 4 electrons for which Mg =——

B. There is only one electron in p, orbital.

C. The last electron goes to orbital withn =2 and /= 1.
D. The sum of angular nodes of all the atomic orbitals 1s 1.

Choose the correct answer from the options given below:
Options :
3475778916, A and B Only

3475778917, € and D Only
3475778918, A and C Only

3475778919, A+ € and D Only

Question Number : 51 Question Id : 3475772538 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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A. mg=+1 & TATTY 5 Felaei=4 TG =_%4 gcldel-g gl Udhd g

B. p, H& 1 $ad UF aae- gl Gl ol
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Options :

3475778916. HITATIB




3475778917. $ddcTdD
3475778918. HITATI C

3475778919, PAT A, CTE D

Question Number : 52 Question Id : 3475772539 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of the following binary mixture does not show the behaviour of minimum boiling
azeotropes?

Options :
3475778920, H20 + CH3;COCHs

3475778921, €52 + CH3COCH;
3475778922, CH3OH+ CHCl3

3475778923, C6HsOH ~ CgHsNH;

Question Number : 52 Question Id : 3475772539 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

FofaRad fed Ay 6 U & F Hyad oyAid! RS & HdeR Tg] Hdl 82

Options :

H,0 + CH;3COC,H;s

3475778920.

3475778921, €52 T CH3COCH;
3475778922, CH3OH+ CHCl3

3475778923, CeHsOH + CgHsNH,

Question Number : 53 Question Id : 3475772540 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
HA(aq) = H" (aq)+ A (aq)

The freezing point depression of a 0.1 m aqueous solution of a monobasic weak acid HA is 0.20
°C. The dissociation constant for the acid is

Given : KdH,0)= 1.8 K kg mol L, molality = molarity
Options :

3475778924, 1.1 = 107~



3475778925, 1.38 % 107
3475778926. 1.89 x 1071

3475778927, 1.90 % 107

Question Number : 53 Question Id : 3475772540 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
HA(ag)=H (ag)+A (aq)

Uth Uhd &R®| oY 3T HA S 0.1 m ST [ded B fgHI® /a0 0.20 °C g1 3 Bl
faatsiH feRi® g:

e T %z KdH,0)=18Kkg mol ™, molality = molarity

Options :

3475778924, 1.1 % 1072
3475778925, 1.38 % 107
3475778926, 1.89 % 107!

3475778927 1.90 x 107

Question Number : 54 Question Id : 3475772541 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
In a first order decomposition reaction, the time taken for the decomposition of reactant to one
fourth and one eighth of its initial concentration are ty and t, (s). respectively. The ratio t/t; will

be:
Options :

L | 4=

3475778928.

b | W

3475778929.

| w2

3475778930.

2
3475778931, 3

Question Number : 54 Question Id : 3475772541 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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3134 g ddb 3udied g ° o1 Y99 HH: t; Ud t, (s) § 13U t,/t;, BTT:

Options :

3475778928. 3

3475778929. 2

| Lo

3475778930.

2
3475778931, 3

Question Number : 55 Question Id : 3475772542 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The number of species from the following that are involved in sp3 d? hybridization is
[Co(NH;3)6]*™, SFg. [CtF¢]”, [CoFg]®™ ., [Mn(CN)g]®~ and [MnClg]*™

Options :

3475778932. 4

3475778933. 6
3475778934, le.
3475778935, 3

Question Number : 55 Question Id : 3475772542 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

frafeRad gD § U sp3d? YH01 U STl 5, 1 TS -
[Co(NH;3)g]*". SFg. [CtFg] . [CoFglF . [Mn(CN)g]®~ €d [MnClg]*~

Options :

3475778932. 4

3475778933, 6
3475778934, 5

3475778935, 3

Question Number : 56 Question Id : 3475772543 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



lSt

The atomic number of the element from the following with lowest 1™ lonisation enthalpy is :

Options :
3475778936. 19

3475778937. 87
3475778938, 35
3475778939, 32

Question Number : 56 Question Id : 3475772543 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

g T 3 T a1 I & FEfifad 3 3 e e

Options :
3475778936. 19

3475778937. 87
3475778938, 35

3475778939, 32

Question Number : 57 Question Id : 3475772544 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Given below are two statements:

Statement I : H,Se is more acidic than H,Te

Statement I : H,Se has higher bond enthalpy for dissociation than H,Te

In the light of the above statements, choose the correct answer from the options given below
Options :

3475778940, Both Statement I and Statement I are true

3475778941. Both Statement I and Statement II are false

3475778942, Statement I 1s true but Statement II is false

3475778943, Statement I 1s false but Statement II is true

Question Number : 57 Question Id : 3475772544 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :
3475778940, Gl DU 1T HUT 11 He! G|

3475778041 Il DY 1T HYUT 11 7Tl B
3475778942. ELEP R U DY 1 TTelc gl

3475778943, & A1 TTTTIC g R PUT I HG! B

Question Number : 58 Question Id : 3475772545 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

. i 1 a- 21 o g
The correct decreasing order of spin only magnetic moment values (BM) of Cu", Cu“", Cr~" and
Cr’” jons is :
Options :

3475778944, C Cts et soat s o

3475778945. Cu” = Cu~ = Cr’~ = Cr-
2+ ~3+. FEL o

3475778946. Cr=" = Cr~ " = Cu~ = Cu

3475778947. e

Question Number : 58 Question Id : 3475772545 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Cu™, Cu?™, CrF U ¢ 3EHl & UHh V- GBI AT0 I T Tl g3 Ugl i 3 -

Options :

g NN 4

3475778944, Cro 7 = Cr2™ = Cu™ > Cu?™

3475778945. Cu” = Cu~ = Cr’~ = Cr~
T+ I+ . I+ y s

3475778946. Cr=" = Cr~ " = Cu~ = Cu

3475778947. Cu?™ > Cu™ = Cr27 = Cr



Question Number : 59 Question Id : 3475772546 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Given below are two statements:

Statement I : A homoleptic octahedral complex, formed using monodentate ligands. will not
show stereolsomerism

Statement IT : cis— and trans — platin are heteroleptic complexes of Pd.

In the light of the above statements, choose the correct answer from the options given below
Options :

3475778948. Both Statement I and Statement II are true

3475778949, Both Statement I and Statement II are false

3475778950. Statement I is true but Statement IT is false

3475778951, Statement I is false but Statement II is true

Question Number : 59 Question Id : 3475772546 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Question Number : 60 Question Id : 3475772547 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Match the LIST-TI with LIST-II

LIST-1 LIST-I1
(Complex/ Species) (Shape & magnetic moment)
A | [Ni(CO)4] I | Tetrahedral, 2.8 BM
E. [Ni[C?\'h]:_ II. | Square planar, 0 BM
C.| [NiCl 4]3_ II | Tetrahedral, 0 BM
D. [}haBr4]2_ IV | Tetrahedral, 5.9 BM

Choose the correct answer from the options given below:
Options :
3475778952, A-1, B-11, C-III, D-IV

3475778953, A-1IL, B-II, C-I, D-IV

3475778954. e

3475778955 A-IIL, B-IV, C-II, D-I

Question Number : 60 Question Id : 3475772547 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

GI-1 BT YEI-11 & 1Y e &3
S b Sia
@ (STPTa SfY e vl
A | [Ni(CO),] I | I9d9ha® g, 2.8 BM
B. | [Ni(CN),J* 1. | 97 9Haeid, 0 BM
C. | micy* I | Igvhadh . 0 BM
D.| [MnBr,]* IV. | Iquhadid, 5.9 BM
4 fqu T fgsheul 6 ¥ G5t IR B 997 Y-
Options :

3475778952, A-L, B-II, C-III, D-IV
3475778953, A-1IL, B-II, C-I, D-IV
3475778954, A-IV. B-1. C-III. D-II

3475778955, A-111, B-IV, C-II, D-I

Question Number : 61 Question Id : 3475772548 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Match the LIST-TI with LIST-II

LIST-1 LIST-I1
(Reagent) (Functional Group detected)
A | Sodium bicarbonate solution [. |double bond/ unsaruration
BE. | Neutral ferric chlonde II. | carboxylic acid
C. | ceric ammonium nitrate II1. | phenolic - OH
D. |alkaline KMnO, IV. | alcoholic - OH

Choose the correct answer from the options given below:
Options :
3475778956, A-11. B-III. C-IV, D-I

3475778957, A-IL, B-IV, C-III, D-I
3475778958, A-IIL B-II. C-IV, D-I

3475778959, A-IL. B-III. C-1, D-IV

Question Number : 61 Question Id : 3475772548 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

3475778956, A-IL B-III. C-IV, D-I
3475778957, A-IL. B-IV, C-III, D-I
3475778958, A-IIIL, B-II. C-IV, D-I

3475778959 A-II, B-III, C-I, D-IV

Question Number : 62 Question Id : 3475772549 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



On combustion 0.210 g of an organic compound containing C, H and O gave 0.127 g H,O and
0.307 g CO, . The percentages of hydrogen and oxygen in the given organic compound
respectively are:

Options :

3475778960, 7-33. 43.83

3475778961, 23.41, 39.6
3475778962, 6.72, 39.87

3475778963, 6.72,533.41

Question Number : 62 Question Id : 3475772549 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

C. HUd 0 g U BTdfd G & 0.210 g b &g+ B3 R 0.127 g H,0 U9 0.307 g CO,
Gdl g1 fau U srdi-e gl | gigsior Ud e & Uia=id HH: ¢:

Options :

3475778960, 7-33. 43.83

3475778961, 23.41. 39.6

3475778962, 6.72, 39.87

3475778963, 6.72,53.41

Question Number : 63 Question Id : 3475772550 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
What 1s the correct IUPAC name of

/\ Dll,?

Options :
3475778964 1-Ethyl-3-hydroxycyclopent-2-ene

3475778965, 4-Ethyl-1-hydroxycyclopent-2-ene
3475778966, +-Ethylcyclopent-2-en-1-ol

3475778967, 1-Ethyleyclopent-2-en-3-ol

Question Number : 63 Question Id : 3475772550 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1

/\ OH

Y] gl IUPAC AH FI1 S

Options :
3475778964, 1-CIUTT-3 BIE SIRIIZAAU 2.5

3475778065, - QU0 1 RIS glaIAIgad<-2-5
3475778966, +-SIUAUZAAIU2-2-5-1-3{Td
3475778967, 1-ClAAHZAAIY2-2-5-3-3{Tc

Question Number : 64 Question Id : 3475772551 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Match the LIST-I with LIST-II

LIST-1 LIST-II

% It I Spgcies that can supply a
pair of electrons.

B. | C_Free radical I Species that can receive a

pair of electrons.

TIL sp2 hybridized carbon with

C. | Nucleophil
ucleophile empty p-orbital.

D. | Electrophile v, |sp*/sp® hybridized carbon
with one unpaired electron.

Choose the correct answer from the options given below:
Options :

3475778968, A-1IL B-IV, C-II, D-I

3475778969, A-1L. B-III, C-I, D-IV

3475778970. A-IV, B-1I, C-III, D-I

3475778971, A-111, B-IV, C-I, D-II

Question Number : 64 Question Id : 3475772551 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

3475778968, A-111, B-IV. C-II, D-I
3475778969, A-1L, B-III, C-1, D-IV
3475778970, A-IV, B-II, C-III, D-I

3475778971, A-IIL B-IV, C-1, D-II

Question Number : 65 Question Id : 3475772552 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
(1) KOH {alc.)

1,2-dibromocyclooctane > P
{ii) NaNH, .
I major product
(iiiyHg=*/H*
(iv) £n=Hg /H"
‘P*is
Options :
0
3475778972.
OH
3475778973.

3475778974.



3475778975.

Question Number : 65 Question Id : 3475772552 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

(1) KOH (alc.
(1) (alc.) p

>
1.2-SISsHME del 3ac s AT 391G

(iiHg=" /HT
(iv) Zn—-Hg /H”

‘P”%:

Options :

@n
3475778972.

3475778973. L.

3475778974.

3475778975. Q

Question Number : 66 Question Id : 3475772553 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Choose the correct set of reagents for the following conversion.

Options :
3475778976. Cl,/anhy.AlCl; : Bry/Fe : alc. KOH

3475778977, Br2/Fe : Cly, A ale. KOH

3475778978, Bry/anhy.AlCl;5 ; Cl,, A ag. KOH



3475773979, Clo/Fe ; Bra/anhy. AlCl; @ ag. KOH

Question Number : 66 Question Id : 3475772553 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
g uRad & R Afeds! & odl de a1

CH=CH,
B

LR GG  — i;

r
Options :
3475778976, Clo/anhy. AlCl; ; Bry/Fe : ale. KOH

3475778977, Bra/Fe : Cly, A :alec KOH

3475778978, Bry/anhy.AlCl;5 ; Cl,, A ag. KOH

3475778979, Clo/Fe : Bryp/anhy. AlCl; : ag. KOH

Question Number : 67 Question Id : 3475772554 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which one of the following reactions will not lead to the desired ether formation in major
proportion ?

(iso—Bu = isobutyl, sec—Bu = sec-butyl. nPr = n—propyl.

Bu = tert—butyl. Et = ethyl)

Options :

O Na +CH; Br —> Q O —CH;
3475778980.

3475778981. 150-Bu) N.{J + s¢¢ — BuBr ——= sec=Bu — O —is0-Bu
Na O tn-PrBr—=>n-Pr—0
3475778982.

3475778983, 'BuO Na + EtBr —> 'Bu — O — Ei

Question Number : 67 Question Id : 3475772554 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



afafad & 9 o9 i sifufhar geg 3-urd § qifed SUR o1 (Hair 181 @

(iso—Bu = &n‘%@ﬁ{ﬁa sec—Bu = %ﬁ’iﬁﬁ
nPr = n-WIUd, 'Bu = Eﬁ—ﬂ%ﬂ

Et=:>EﬁEﬁﬁ}
Options :

0" Na+ CH; Br —> O — CH,
3475778980.

+

3475778981, 150-Bu0 Na + sec— BuBr ——= sec-Bu — O —iso-Bu

Na O tn—PrBr—> n-Pr—0
3475778982.

3475778983. lw.

Question Number : 68 Question Id : 3475772555 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

O
H ; : ;
When MY undergoes intramolecular aldol condensation, the major
O
product formed is :
Options :
O
3475778984. O
3475778985, O

=2

3475778986.



‘ >/ Ok
H
3475778987.
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(i)NaOH ()EtOH
{it]H30+ >B (i) H,80,.4 >C

‘A’ shows positive Lassaign's test for N and its molar mass is 121.
‘B’ gives effervescence with ag NaHCOs.
*C’ gives fruity smell.

Identify A, B and C from the following.

Options :
CONH, CO,H CO,Et
A= @ B = AT -
3475778988
CH,NHNH, CO,H CO,Et
A—@ .li—@ s
3475778989.
NH,
OH
OH OH
CHO OFt
0
QR OC
. NH, : )
3475778990. NH, H, NH, NH,
NH, NH, NHE
A ) @ . B _ @ . (-l d- @
3475778991. CHO CO,H CO,Et
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()NaOH (1) EtOH e
(i) H,0" >B (iDH,S0,. 2 7 C
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‘B" STeil NaHCO; TR 96 dalgR odl g

-C* Bl @I G al g |
fafafad @ 9 A. B U4 ¢ &1 UgdIHT -



Options :
3475778988, L

3475778989, L.

NH,
OH
. OH OH
CHO OEt
O
A i " ]; i * (‘ : ° e
NH, NH, NH, NH,

3475778990.

3475778991, lw.
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CH (CH4),
| 372
H,N — CH — COOH

pH =2 J/ pH = 10

A B
Choose the correct option for structures of A and B, respectively
Options :
H,;N —CH —C00 . H3N—CH — COOH
f and |
3475778992. CH{CH, CH (CHy),
.+ .
H;N — CH — COOH H,N —CH — COO
| and ]
3475778993, CH (CHy), CH (CHy),
H.N — CH — COO H,N— CH — COOH
¢ | and - |
3475778994, LRSS L SH;
© +
H-N —CH — COO H;N—CH — COO
= | and |
3475778995, CH (CH;), CH (CHy),
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CH (CH-),
| 3/2
H,N — CH — COOH

pH=2 J/ pH =10

A B

DU A TG B I W13 & o Ug! [ddhed &l I-:

Options :

H.N— CH — €00 .. H:N—CH — COOH
b | 3
| ud |

3475778992 CH (CHj;), CH (CH,),

HN — CH — COOH . H,N—CH — COO
3 2
| ud |

3475778993, CH (CHy), CH (CHj),

H,N — CH — COO . HN— CH — COOH
| ud |

3475778994, CH (CH3), CH (CHy),

H,N S i

1-N — CH — COO . HyN—CH — COO

& . |
| ud |_
3475778995, CH (CH3), CH (CHy),
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20 mL of sodium iodide solution gave 4.74 g silver iodide when treated with excess of silver
nitrate solution. The molarity of the sodium iodide solution is M. (Nearest Integer
value)

(Given : Na=23,1=127,Ag=108, N=14,0=16 gmol_l}
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(AT §: Na=23,1= 127, Ag= 108, N = 14, O = 16 g mol'})
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The energv of an electron in first Bohr orbit of H-atom is —13.6 eV. The magnitude of energy

value of electron in the first excited state of Be> ™ is eV (nearest integer value)
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Resonance in X,Y can be represented as

@ @ @ ©
X=X=Yo:X=X-Y:

The enthalpy of formation of X,Y | X=X(g) +E| Y=Y(g)>XY( ,@;}J is 80 kT mol L. The magnitude

of resonance energy of X,Y is kT mol ™! (nearest integer value)

Given : Bond energies of X =X, X=X, Y=Y and X =Y are 940, 410, 500 and 602 kJ mol !
respectively.

valence X: 3.Y: 2
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X,Y | TG S HoiUd a1 o 9ehdl g

© @ @ e
X=X=Ye:X=X-Y:

X,Y B fava Al !/x =X(g) + 1V =V(g) L?’(.Tl_ﬁ:!] 80 kI mol™! §1 X,Y & 3H1G Hull Bl
AT kT mol™! (Midedd quiie A1) g1

GO g: X=X, X=X, Y=Y Ud X =Y &I ¥ Holl HHI: 940. 410, 500 Ud 602 kJ
mol ! %I

valence X: 3,Y: 2
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The equilibrium constant for decomposition of H-O (g)
1 . o
H,0(g)=H, () +=0,(g) (AG®=92.34 kI mol 1y

is 8.0 x 107> at 2300 K and total pressure at equilibrium is 1 bar. Under this condition, the degree

: g i : ) :
of dissociation (a) of water 1s x 107 (nearest integer value).

[Assume o is negligible with respect to 1]
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H,0 (g) P 3Tge & AU 2300 K TR JrGRIT [RRIS
H,0(g)= H, (¢) + =0, (¢) (AG® = 92.34 kI mol ™)

8.0 x 107> g YT YIHTGRYT W D &Id 1 bar &1 24 GRS T Sl & [9T1SH HMHT (o) x
102 ¢ (Fdhedn quie o)

[HU fdh o &1 a1 § TG g1
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Consider the following half cell reaction

CrZDEL (aq)+6e” +14H" (aq]—>2Cr3+ (aqg)+7H,O(1)

3+42
The reaction was conducted with the ratio of u:m—ﬁ . The pH value at which the EMF of

[Cr,07
the half cell will become zero is . (nearest integer value)
; : ; : — 2303RT
[Given : standard half cell reduction potential ECT ol H*/Cr =133V —; =0.059V .]
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FafeRad e Oa sifyfhar iR f9arR &3

Cr,02 (ag)+6e” +14H" (ag) — »2Cr*" (aq)+ 7TH,0(1)

3 L] ’]._m*ﬁ & 1y SHMIEar SrTed BT | 98 pH A o 1R 3¢ 9 BT EMF
Qpifs“ram g1 (MPeaq quid aF)
3V 2303RT

(fecan T B W e W Sy favd, B oo o =133V, 2R o0sov.
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